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Grade 8 Science Released Item Information

. 1 Assessment Depth of 2 Tot.al
Item Number Big Idea Target Knowledge Item Type Answer Key Pos.s1ble
Code Points
1 POC PS 1-2 2 MC C 1
2 SAE PS 1-3 2 MC B 1
3 SAE PS 2-7 2 MC A 1
4 POC ESS 1-1 2 MC A 1
5 POC ESS 1-3 2 MC D 1
6 MAS ESS 2-6 2 MC D 1
7 POC ESS 1-1 3 CR 4
8 SAE LS 1-1 2 MC B 1
9 SAE LS 2-5 2 MC A 1
10 MAS LS 3-8 2 MC D 1
Grade 8 Science Released Inquiry Task Information
Depth of Total
Item Number Big Idea' Inquiry Construct Knowledge Item Type® Possible
Code Points
1 INQ 2 SA 2
2 INQ 3 2 SA 2
3 INQ 12 3 CR 3
4 INQ 6 2 SA 2
5 INQ 12 3 CR 3
6 INQ 7 2 SA 2
7 INQ 11 2 SA 2
8 INQ 11 2 SA 2
1Big Idea: NOS = Nature of Science, SAE = Systems and Energy, MAS = Models and Scale,
POC = Patterns of Change, FAF = Form and Function, INQ = Scientific Inquiry
’Item Type: MC = Multiple Choice, CR = Constructed Response, SA = Short Answer
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PS1 (5-8) POC-2 Students will, given data about characteristic properties of matter (e.g., melting and boiling
points, density, solubility), identify, compare, or classify different substances.

@ A tcacher heats 250 mL of propylene glycol
in a beaker. The graph below shows the
temperature data collected.
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Which comparison can best be made based
on this experiment?

A. Propylene glycol has a lower boiling
point than water.

B. Propylene glycol has a lower melting
point than water.

C. Propylene glycol has a higher boiling
point than water.

D. Propylene glycol has a higher melting
point than water.
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PS1 (5-8) SAE-3

Students will collect data or use data provided to infer or predict that the total amount of
mass in a closed system stays the same, regardless of how substances interact (conservation
of matter).

@ The table below shows a chemical equation.

Mass of Mass of
Reactants Products
Carbon
Methane + Oxygen Dioxide * Water

50.0 g +200.0g —» 137.5g+?

What is the mass of the water produced?

A. 625¢g
B. 1125¢g
C. 2500¢g
D. 3875¢g
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PS2 (5-8) SAE-7 Students will use data to draw conclusions about how heat can be transferred (convection,
conduction, radiation).

€ A student is using a metal wire to toast
marshmallows in a campfire. Which statement
best explains why the wire feels hot after
several minutes?

A. Heat is transferred from the fire through
the wire by conduction.

B. Heat is transferred from the fire through
the wire by radiation.

C. Hot air from the fire is circulated by
conduction.

D. Hot air from the fire is circulated by
radiation.
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ESS1 (5-8) POC-1  Students will use geological evidence provided to support the idea that the Earth’s crust/
lithosphere is composed of plates that move.

@ Over millions of years, coal formed from
decayed plants that grew in hot, moist
climates. Today, coal is found in northern
regions such as Europe and North America.

Why is coal now found where the climate
is cool?

A. Europe and North America were once
located near the equator.

B. The plants that form coal adapted to cool
climates over time.

C. Northern regions of Earth had a warm,
desert climate many years ago.

D. The plants that form coal grow during
the summer months when the weather
1S warm.



NECAP 2010 RELEASED ITEMS
GRADE 8 SCIENCE

ESS1 (5-8) POC-3  Students will explain how Earth events (abruptly and over time) can bring about changes in
Earth’s surface: landforms, ocean floor, rock features, or climate.

@ The diagram below shows a cross section of
different rock layers.

Which conclusion correctly describes the
youngest rock layer in the diagram?

A. Layer W is the youngest because it is
the top layer of sedimentary rock and the
only layer that contains fossils.

B. Layer X is the youngest because it is the
middle layer of sedimentary rock.

C. Layer Y is the youngest because it is the
bottom layer of sedimentary rock.

D. Layer Z is the youngest because it was
once molten rock that moved through
all three layers of sedimentary rock.
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ESS2 (5-8) MAS-6  Students will compare and contrast planets based on data provided about size, composition,
location, orbital movement, atmosphere, or surface features (includes moons).

Please use the Solar System Data on the reference
sheet to answer the question.

@ The table below lists additional data about
two planets.

Additional Planetary Data

Carbon
Average ioxide i
Mass Dioxide in
Planet Teml()fé)ature (102% kg) | Atmosphere
(%)
Mercury 167 0.3 3.5
Venus 457 4.9 96.5

Based on the information on the reference
sheet and in the table, which data explains
the difference between the average
temperatures of Mercury and Venus?

A. mass

B. orbital period

C. mean distance to the Sun

D. composition of the atmosphere
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ESS1 (5-8) POC-1  Students will use geological evidence provided to support the idea that the Earth’s crust/

lithosphere is composed of plates that move.

Use the Plate Movements diagram on the reference sheet to answer part (a).

@ The table below lists data scientists gathered from the continents of South America and Africa.

Geologic Data from South America and Africa

Animal Fossils

Mesosaurus (reptile)

Data Sets South America Africa
Ages of 550-2000-million-year-old 550—-2000-million-year-old
Rocks rocks along eastern coast rocks along western coast
Types of

Mesosaurus (reptile)

Types of
Plant Fossils

Glossopteris (fern)

Glossopteris (fern)

Sedimentary
Structures

* Ancient glacial deposits

* Glacial scour marks trending

from west to northwest

* Ancient glacial deposits

* Glacial scour marks trending

from west to northwest

a. Describe the role of the Mid-Atlantic Ridge in the separation of the continents of South America

and Africa.

b. Choose two sets of data from the table and explain how these data sets support the theory that
South America and Africa were once joined together.
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Scoring Guide

Score

Description

The response demonstrates a thorough understanding of using geological
evidence provided to support the idea that Earth’s crust/lithosphere is
composed of plates that move. The response identifies two sets of

data from the table and explains in detail how these data sets support
the theory that South America and Africa were once joined together.
The response also describes the role of the Mid-Atlantic Ridge in the
separation of the continents of South America and Africa.

The response demonstrates a general understanding of using geological
evidence provided to support the idea that Earth’s crust/lithosphere is
composed of plates that move. The overall response is general.

The response demonstrates a limited understanding of using geological
evidence provided to support the idea that Earth’s crust/lithosphere is
composed of plates that move. The overall response is limited.

The response demonstrates a minimal understanding of using geological
evidence provided to support the idea that Earth’s crust/lithosphere is
composed of plates that move. The overall response is minimal.

The response is incorrect or irrelevant to the skill or concept being
measured.

Blank

No response
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Training Notes:

a. A thorough understanding can be exemplified by the following sample response:

The Mid-Atlantic Ridge is a boundary between the South American Plate and the
African Plate. These plates moved away from the mid-ocean ridge, in opposite
directions.

b. A thorough understanding can be exemplified by two of the following sample
responses:

Rocks of similar ages along opposite coasts = supports the idea that the continents
were once joined because the rocks would have formed at the same time from the
same processes.

The same type of reptile fossil (Mesosaurus) found on both continents = the reptile
would not have spontaneously formed in two separate places but would have evolved
to live in the region that was joined. Therefore, when the continents separated, the
reptiles would have died and been preserved in those two places.

The same type of fern fossil (Glossopteris) found on both continents = the plant would
not have spontaneously formed in two separate places but would have evolved to live
in the region that was joined. Therefore, when the continents separated, the plants
would have died and been preserved in those two places.

Glacial deposits = the glaciers would have scraped along the joined area toward the
west or northwest, leaving deposits. They would not have spanned the ocean. When
the continents separated, the marks were preserved on both continents.

Glacial scour marks = the glaciers would have scraped along the joined area toward
the west or northwest, creating the scour marks. They would not have spanned the
ocean. When the continents separated, the marks were preserved on both continents.

Note: The response does not need to specify the scientific names (italics) of the
reptile or fern fossils. However, the response should refer to the reptile or fern being
the same in order for the fossils to be used as evidence.

10



NECAP 2010 RELEASED ITEMS
GRADE 8 SCIENCE

Score PoInT 4
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The response demonstrates a thorough understanding of using the geological evidence provided to support the
idea that the Earth’s crust is composed of plates that move. The response identifies two sets of data (fossils

and geology) to explain how these data sets support the theory that South America and Africa were once
joined together.
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Score PoinT 3
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The response demonstrates a general understanding of using geological evidence to support the idea that
the Earth’s crust is composed of plates that move. Response identifies two sets of data (reptile and fern
fossils) and explains how these data sets support the idea that South America and Africa were once joined

together.
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Score PoOINT 2
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The response demonstrates a limited understanding of using geological evidence to support the idea that
Earth’s crust is composed of plates that move.
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Score Point 1
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The response demonstrates a minimal understanding in part (a), and receives no credit for part (b).

Score Point 0
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The response does not give any support or explanation. Simply choosing two pieces of evidence from the
chart does not demonstrate any understanding.
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LS1 (5-8) SAE-1 Students will, using data and observation about the biodiversity of an ecosystem, make
predictions or draw conclusions about how the diversity contributes to the stability of the
ecosystem.

@ Sewage sludge was repeatedly dumped into
Boston Harbor until 1991, which polluted
the harbor. Scientists recorded the number
of species in Boston Harbor from 1991 until
2007. The graph below shows the results.

Biodiversity in Boston Harbor

o O O

o
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o
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o O

1 1
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Time

Which prediction do the data in the graph
most support?

A. The ecosystem will have fewer habitats
because the number of species is
increasing.

B. The ecosystem will become more
stable because the number of species is
increasing.

C. The ecosystem will become unstable
because the number of species is
decreasing.

D. The ecosystem will have fewer types of
species because the number of species is
decreasing.

15
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LS2 (5-8) SAE-S Students will, using data and observations, predict outcomes when abiotic/biotic factors are
charged in an ecosystem.

@ The picture below shows an aquatic plant
called a water hyacinth.

‘ hyacinthg
plemis =\

Water hyacinth plants are classified as an
invasive species in most states. The plants
grow on top of water and form thick mats,
quickly covering the surface of ponds or
rivers.

Which statement best predicts what will
happen when water hyacinth plants enter an
ecosystem?

A. Other aquatic plant species will have less
available sunlight.

B. All herbivores in the ecosystem will start
to eat water hyacinth plants.

C. Other aquatic plant species will have
more available sunlight.

D. The water hyacinth plants will have no
effect on the ecosystem.

16
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LS3 (5-8) MAS-8 Students will use a model, classification system, or dichotomous key to illustrate, compare,
or interpret possible relationships among groups of organisms (e.g., internal and external
structures, anatomical features).

@ The diagram below shows one example of an
evolutionary line for birds.

Modern birds

Ichthyornis

Archaeopteryx

Saurischian
dinosaurs

Which conclusion does the information in the
diagram best support?
A. Ichthyornis is still living today.

B. All of these organisms evolved at the
same time.

C. Most bird fossils found today are
Saurischian dinosaurs.

D. Archaeopteryx and modern birds have a
common ancestor.

17
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Broad Area of Inquiry: Planning and Critiquing of Investigations
Inquiry Construct 5: Develop an organized and logical approach to investigating the question, including
controlling variables.

@ Explain why it was important in this investigation to measure the mass of the substances
and bags before and after you mixed the substances. Use specific evidence to support your
answer.

Scoring Guide

Score Description

The response demonstrates a general understanding of why it is

2 important in this investigation to measure the mass of the substances
before and after the substances are mixed together. The response uses
specific evidence to support answer.

The response demonstrates a limited understanding of why it is important
1 in this investigation to measure the mass of the substances before and
after the substances are mixed together. The response may or may not
provide specific evidence to support answer.

0 The response is incorrect or irrelevant to the skill or concept being
measured.
Blank No response

Training Notes:

The purpose of the experiment is to determine if the mass of substances changes
when mixed together, so it's important to measure the mass before and after mixing
for comparison.

18



NECAP 2010 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoINT 2

@ Explain why it was important in this investigation to measure the mass of the substances
and bags before and after you mixed the substances. Use specific evidence to support your
answer.
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The response demonstrates a general understanding of why it is important to measure the mass
of the substances before and after the substances are mixed together. Response includes evidence
(“we found out that the end result had less mass than when it started”) for support.
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Score POINT 2 (CONTINUED)

Data Table 1: Mass Differences and Observations

Investiaation Average Difference in Mass
9 (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry

Booklet.
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Score PoInT 1

@ Explain why it was important in this investigation to measure the mass of the substances

and bags before and after you mixed the substances. Use specific evidence to support your
answer.
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The response demonstrates a limited understanding of why it is important to measure the mass

before and after the substances are mixed together. The response does not provide evidence for
support.
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Score PoINT 1 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass
(Number of Washers)

Powder X and water O LQ(S\%(S

Investigation

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water
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Score Point 0

@ Explain why it was important in this investigation to measure the mass of the substances
and bags before and after you mixed the substances. Use specific evidence to support your

answer. -_[3_ wc_) ‘“.‘.\,m 4\
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SRSS A \\ove < “Nooee WO N
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The response does not contain any correct elements of why it is important to measure the mass of
the substances before and after the substances are mixed together. Although following directions is a
good idea, the response does not demonstrate an understanding of the task.
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Score PoiNT 0 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

~

Powder X and water ( )

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry

Booklet.
After Mixing with Water
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Broad Area of Inquiry:
Inquiry Construct 3:

Formulating Questions & Hypothesizing

Make and describe observations in order to ask questions, hypothesize, make predictions
related to topic.

@ Look at your prediction on page 4 of your Inquiry Booklet. Do the results of your
investigation support your prediction? Use specific information from the investigation to

explain your answer.

Scoring Guide

Score Description
2 The response indicates whether the data supports the prediction and
uses specific information from the investigation to support the answer.
1 The response indicates whether the data supports the prediction and
provides a limited explanation to support the answer.
0 The response is incorrect or irrelevant to the skill or concept being
measured.
Blank No response

Training Notes:

The response will indicate that the results of the investigation do or do not support the
prediction. The response will also provide specific information from the investigation to

explain why.

The data should support the prediction (no change in mass), but it is possible that a
measuring error would give data that would refute it. This possibility is acceptable as
long as the argument and data are used appropriately.

A “yes” or “no” is not considered enough for a limited explanation.

25
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Score PoINT 2

@ Look at your prediction on page 4 of your Inquiry Booklet. Do the results of your
investigation support your prediction? Use specific information from the investigation to
explain your answer.
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The response contains specific information from the investigation (“3 washers before...and after”) to
support the prediction.
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Score POINT 2 (CONTINUED)

Data Table 1: Mass Differences and Observations

Investiaation Average Difference in Mass
9 (Number of Washers)

Powder X and water 0 m%( s

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water
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Score PoInT 1

@ Look at your prediction on page 4 of your Inquiry Booklet. Do the results of your
investigation support your prediction? Use specific information from the investigation to
explain your answer.

Jes They maitched op.

[he Masses STopes
the Same

The response indicates that the results of the investigation do support the prediction with a limited
explanation. No specific information is included.
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Score PoINT 1 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water O

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water
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Trial 1

buéb/-”d g’af‘

2 e T
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Score Point 0

@ Look at your prediction on page 4 of your Inquiry Booklet. Do the results of your
investigation support your prediction? Use specific information from the investigation to
explain your answer.
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The response does not indicate whether or not the prediction was supported.
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Score PoiNT 0 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water
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Trial 2
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Broad Area of Inquiry: Developing and Evaluating Explanations

Inquiry Construct 12:

evidence refutes the hypothesis.

€ Do you think the investigation was a controlled investigation? Use specific data and
examples to support your answer.

Scoring Guide

Score Description
The response identifies the investigation as a controlled investigation or
3 not. The response uses specific data and examples to generally support
the answer.
The response identifies the investigation as a controlled investigation or
2 not. The response uses specific data and examples to partially support
the answer.
The response identifies the investigation as a controlled investigation or
1 not. The response uses specific data and examples to minimally support
the answer.
0 The response does not contain any correct elements or is irrelevant.
Blank No response

Training Notes:

The investigation is a controlled investigation.

Specific data and examples that indicate the investigation is a controlled investigation

include:

The investigation is performed in a laboratory in which all the variables were the same
for each trial: the same materials and the same procedure.

A “yes” or “no” is not considered enough for a minimal explanation.

Note: If the response argues that it is not a controlled experiment and gives a
convincing argument (for example, the weighing technique was not accurate enough),
credit should be given.

32
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Score PoinT 3

€ Do you think the investigation was a controlled investigation? Use specific data and
examples to support your answer.
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The response identifies the investigation as a controlled investigation. Exact measurements and the
use of bags that “zipped up tightly” are examples of variables that are the same for each trial
in a controlled investigation.
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GRADE 8 SCIENCE

Score PoINT 3 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

@)

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

Afrex ORI Wy WOILC QNd K pOWder c ¥ SRty
Rzziq Wi, Duoo\e i, Aren ofder Q SCLONUS 14
Trial 1 Q@ ABWN +R Fzzirg o o Qe TA aon 1n

CAd. At e end of MNR Kzzirq Hrere are Sl
Do, ot 4bey art, AN o Duoies.

ASRY TIX (D) AN TN DIDTHANRS W IAOried Qz2ing wkh
DiQ WhR \Cuco RS- Afer o R 2LondS W digh damin
Trial2 | 'Qur ‘SMN NS Ay 'oUcoRS A e o xares. Ot

L o cRoer Woywd.

Afler talx 1O we vty NS PONAEC A MO SR
Rzz\e . Ao O Ry 20N, i STops, ?m\m§ Q@

Tial3 | i3 cova. Th oo Tawio up AOR 009 & Mot ¥re bagy
5 Mor Flat ooyMmace.
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Score PoINT 2

€ Do you think the investigation was a controlled investigation? Use specific data and
examples to support your answer. .
Yes. e QP Ve Nt wos
OO\ \ . [
Conkrollec). We e d e sc WCPQ \0greclients

Qxﬁr}\—{mtl Sann Q.mowf(: Serne ecg ¢

The response identifies the investigation as a controlled investigation. The response provides partial
support with “same amount” and “same order.”
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Score POINT 2 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water O

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry

Booklet.
After Mixing with Water

povder x Fizzed 1n oeder ks mix vk waker.
Tall | AMigke 1 bubbly and 644G 6ok Becanes

cleas,

Cold LR Lizz ng Cpaque  Mixkyee s b bléy
Tial2 | ODOYR bu ¥ Wwecovs (\eag

Celd, Dcbbly f—h?:rw_g, by X YR A Bl lemnes
Trial3 | Qleq
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GRADE 8 SCIENCE

Score Point 1

€ Do you think the investigation was a controlled investigation? Use specific data and
examples to support your answer.

T estigadion wos @
Contyolied InNesTIQOTion  DeetUSS
WL had a covtain process
ONASRPS 0 had yo olle.,
WNd we Al

The response identifies the investigation as a controlled investigation with minimal support (“follow a
certain process and steps”).
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Score PoINT 1 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

-clovdy watey

- fr22y
Trial 1 ed SowW 2d

?@2& IR

o Ofe bo‘ob\-\ﬁ

"Nt Ay elowdy

* ASOWN o}
v NO OGS

Trial 2

RGN
Trial3 | ° %\\Qh \/\JU«NYKH
MR “&W
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Score PoinT 0

€ Do you think the investigation was a controlled investigation? Use specific data and
examples to support your answer.

Yes X Was 1Y came put 1o be theSarne
ebfrﬂ -\':M’

The response discusses the “same” results but does not address the investigation as a controlled
investigation or not.
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Score PoiNT 0 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

X leoke 1ike belee n Godq

Trial 1

Trial 2 1* L“EH‘CQ 'ELCRM' C‘LZQCP

Trial 3 "[/\ C‘ZZ{‘} C\(o*
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NECAP 2010 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Broad Area of Inquiry: Planning and Critiquing of Investigations

Inquiry Construct 6: Provide reasoning for appropriateness of materials, tools, procedures, and scale used in the
investigation.

@ Compare your results with those of the students who left their bags open. Explain why your
results are the same or different. Use evidence to support your answer.

Scoring Guide

Score Description
2 The response provides a general comparison of results and uses
evidence to support explanation.
1 The response provides a limited comparison of results and may or may
not use evidence to support explanation.
0 The response does not contain any correct elements or is irrelevant.
Blank No response
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Score PoINT 2

@ Compare your results with those of the students who left their bags open. Explain why your
results are the same or different. Use evidence to support your answer.

NS Sl o R ©ESONS Wit tne, STORIND
WHhO &Y e o S offN, i¥ Shows ok
OUC TeSOMS O ARE écve_n\-_ The oreroge difftean
¢ thot we foond wos O wesnels One of
We 00z uoxons nes LR aAe. WO tnot
e mngedients Mkl *Oqek\nexc (TC0RA & 9OS
e dne, boq. TE oy Very e wag
v wos eoxdy WO\ A

Cpn, e doe MOSS LINEN
esCapl . WD WO o.Fcect  You T

YeasuRS (v oF T x»\é sobs«on&swue

3 e : , oS
Yofxté orner V(e sSOME ias \@Q

\Dvg\)\b ve HonC Tor & WL ‘Q?S‘ﬂh fecent.

The response includes a general comparison of the results with specific evidence from the
investigation for support.
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Score POINT 2 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water O \D&S\‘\e‘_él()(“m

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry

Booklet.

After Mixing with Water

Trial 1

-G\22€0  -ovbiolhng  -CRORA QA W Ine \og\\l
oSy 0F ANe pow e e dissowe 8 -1ooks i

- SpE
N Sew C\omgs 60 ‘he lottorn Y
- 6oy oot

Trial 2

-Ci12Ld - DOOV\WING, -NosY O¢ ne powd e d\sso\uq
- Sew QumpsJon bottom

~cteoded G AN Ane bac |

-Cok Codec -Y0oks \twe ~ Spit

Trial 3

- Booowng, -Guzeg C”ﬁ* co\la

et OF Stne.  Ousdec 1530WEd |\ o cionpy
_oeored GAC W xne bod o;\ e, b
-6y (UACC  -\poks We€ SPANT
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GRADE 8 SCIENCE

Score PoInT 1

@ Compare your results with those of the students who left their bags open. Explain why your
results are the same or different. Use evidence to support your answer.

oLy fESuUlr are qiecexent De(anse
N AVErace AiRecrence W\ MG §S
(MnbEr o Loasner )

was 0SS LwNke ours waas 0.

They musk of did somedhing axcng
LA N AL PYOCESS, A Us.

The response provides a limited comparison of results, but does not include an explanation of the
difference.
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Score PoINT 1 (CONTINUED)

Data Table 1: Mass Differences and Observations

Investiaation Average Difference in Mass
9 (Number of Washers)
Powder X and water 0

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

; sz v O Suens

Trial 1 O mde
Po

ALYy
‘bubbly Souund

Trial 2 not (et
DUDBIHING N e woaker

'S euadners

boobly '35 UoQSNLY'S
_ ‘Fize

Trial 3 ' bu m‘{‘gmm

~Nor Ay
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Score PoinT 0

@ Compare your results with those of the students who left their bags open. Explain why your
results are the same or different. Use evidence to support your answer.

F(-‘rg_), e /),/4 the DoU/er 2 the (/0,3 dét s
(VRTEr opd s 904/9(3 P )w\/vpgn

The response does not address the item.

46




NECAP 2010 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoiNT 0 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

[t Jos entha PPene thing
Trial 1

it dos vntha pPenrthing
Trial 2

AT o enthee PPCneini g
Trial 3
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Broad Area of Inquiry: Developing and Evaluating Explanations

Inquiry Construct 12:

evidence refutes the hypothesis.

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

Scoring Guide

Score

Description

The response includes a correct graph of the relationship between the
candle’s mass and time. The graph includes an appropriate title, data
matches data in table, correct scale, and labeled axes with units. Any
errors or omissions do not detract from the information conveyed by the
graph.

The response includes a graph of the relationship between the candle’s
mass and time. Any errors or omissions distract from the information
conveyed by the graph.

The response includes a graph of the relationship between the candle’s
mass and time. Any errors or omissions interfere with the information
conveyed by the graph.

0

The response is incorrect or irrelevant to the skill or concept being
measured.

Blank

No response

Training Notes:

A bar graph, line graph, or scatter plot is the expected presentation including the

following:

e Time (min) should be plotted on the x-axis and Mass (g) on the y-axis.

e Labeled axes including units

e Title: Mass Versus Time

e Correct scale

48

Use evidence to support and justify interpretations and conclusions or explain how the




NECAP 2010 RELEASED INQUIRY TASK

GRADE 8 SCIENCE

Score PoinT 3

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

MNpeso4 l;ufn:ng ' ciagle
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The response includes a correct graph of the relationship between the mass of the candle and time.
The graph includes an appropriate title, data points that match data in the table, correct scale (starting
the y-axis at 34 does not distract from the information conveyed by the graph), and correctly labeled

axes with units.
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Score PoINT 2

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

T g, M9

4y
(6\

& B — o
Cew T

The response includes a graph of the relationship between the mass of the candle and time. Errors distract
from the information conveyed by the graph (x- and y-axis labels are missing units.) Scale is correct, title
is correct, and most points are reasonably plotted.
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Score PoInT 1

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

Twee v, Moss oF Runea (ondie

2° | \|
| \
.26 *

Z0

\6

-:f‘*'/

T\“\& (h\m 3

\O

The response includes a graph of the relationship between the mass of the candle and time. However,

plotting the dependent variable on the x-axis is a significant error that interferes with the conveying of
information.
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Score PoinT 0

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

Voxea &'-'chv\ Jrgb\ﬁ, Z

_____ |
5 0 \HD 7530

YSAOAKXE AW £

The response contains significant errors in graph construction. The y-axis is scaled to the data points,
and is in descending order. Both are significant errors which do not convey correct information about the
relationship between the mass of the candle and time.
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Broad Area of Inquiry: Conducting Investigations

Inquiry Construct 7:

Follow procedures for collecting and recording qualitative or quantitative data, using
equipment or measurement devices accurately.

@ Describe the pattern (trend) in the mass of the candle over time shown in your graph.
Compare your graph to Graph 1. Use specific data in your comparison.

Scoring Guide

Score Description
The response demonstrates a general understanding of the trends in
2 the graphs and how to compare the data. The response describes the
pattern (trend) in the data, compares the graph to Graph 1, and uses
specific data in the comparison.
1 The response demonstrates a limited understanding of the trends in the
graphs and how to compare the data.
0 The response does not contain any correct elements or is irrelevant.
Blank No response

Training Notes:

The mass of the candle decreases over time in my graph. Graph 1 shows that the
difference in mass increases over time. Both graphs show that the candle mass
decreased by 12 g over the length of the experiment.
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Score PoINT 2

@ Describe the pattern (trend) in the mass of the candle over time shown in your graph.
Compare your graph to Graph 1. Use specific data in your comparison.

In My g"foph 't S Nowd ‘H/‘@ MOTS QRES dowdt oNel™
“p‘uW‘@. HCFS ShowS % J,@(encc ‘N VaSy oNer J.’-‘-'p_ l\mfs
why 13 g o So wiile MG S gy A ond s
% e VP Ty afe kath rlﬂh{' just heds s Sl
A o frrent COW\DQV'I'&'“‘

The response demonstrates a general understanding of the mass of the candle decreasing over time.
The description of the trend of the graph describing the mass (“going down”) and the description of
the trend of the “difference in mass” of Graph 1 (“going up”) is accurate.
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Score PoINT 2 (CONTINUED)

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and

time. Clearly label each axis and include a title.

T 5. Mss of Bnm,% Capdle

T
|

510 5 w B B
—I:m, (Y'H"ﬂ
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Score PoInT 1

@ Describe the pattern (trend) in the mass of the candle over time shown in your graph.
Compare your graph to Graph 1. Use specific data in your comparison.

The pottern +thal goes On in thy gfaph
1S thedt as Mofe  tine the candle
burns, +he es5 mass 1+ has, When He
wvglle §164  Shucied cwt the  hgse W
55.' Wnd  4hen Lbhen I+t WS bwfﬁ;r\g
for 30 ipudes dne Cavelle had o
mass  of Us,

The response demonstrates a limited understanding of the trend of the graph with an explanation of
the pattern in the mass of the candle over time, but does not include a comparison to Graph 1.
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Score PoinT 1 (CONTINUED)

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.

¢o
55

The cedtonshy; €en j'rlxe MASS Of a
(hndle  Gnd' \Wow \ung it Yook $ barn
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Score PoinT 0

@ Describe the pattern (trend) in the mass of the candle over time shown in your graph.
Compare your graph to Graph 1. Use specific data in your comparison.

GRS AR, o LiOe. NN
O?C:QS &ﬁ\&wr \_\hs&\% S\\R\?&\ C;Nc ‘\)};k W
(S Werd of CTeOKed, NKee &S00 of W
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NN e,

The response includes a comparison of how the actual graphs look without discussing the trend of

the mass of the candle over time.
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Score PoiNT 0 (CONTINUED)

@ Use the information in Data Table 3 to graph the relationship between the candle’s mass and
time. Clearly label each axis and include a title.
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Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 11:  Analyze data, including determining if data are relevant, artifact, irrelevant, or anomalous.

@ Explain why the mass of the candle changed over time. Use specific information from the
investigation to support your answer.

Scoring Guide

Score Description
The response provides a general understanding of why the candle
2 mass decreased over time and includes specific information from the
investigation to support the answer.
1 The response provides a limited understanding of why the candle mass
decreased over time.
0 The response does not contain any correct elements or is irrelevant.
Blank No response

Training Notes:

The candle was burned in an “open system” so that smoke and gases could escape
into the room. In the investigation, only the mass of the candle was measured, not the
mass of the gas or smoke given off from the candle.
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Score PoINT 2

@ Explain why the mass of the candle changed over time. Use specific information from the
1nvest1gat10n to support your answer.
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The response provides a general understanding of why the mass of the candle decreased over time
and includes specific information from the investigation for support (“was out in the open” and “the
plastic bag caught whatever escaped”).
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Score Point 1

@ Explain why the mass of the candle changed over time. Use specific information from the
investigation to support your answer.

The  tandle  thanged ocvee fime becans
When  +he fuwe hwnek  ¥he candie o
cemical  reaction ‘\«Fpenu«( and 4+he mass
0%  the candile Chay\o)ca’l as ore wivx
wWos bcmg butned,

The response provides a limited understanding of the chemical reaction and why the mass of the
candle decreased over time. The response does not include specific information from the investigation
for support.
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Score PoinT 0

@ Explain why the mass of the candle changed over time. Use specific information from the
investigation to support your answer.

T\(\L Condle Wy, w\{\\'xm})amb g Wik '\f\UW‘M)
W My o1 VY Decatiee TF W %r\c\k\w‘ G
COM\N\ Toog¥rer

The response does not demonstrate understanding (“The candle was melting...increasing the mass”).
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Broad Area of Inquiry: Developing and Evaluating Explanations

Inquiry Construct 11:

@ Use what you learned from the burning candle experiment to explain why your results from
the Powder X investigation were similar to or different from the results of the two students
who left their bags open. Use evidence to support your explanation.

Scoring Guide

Score Description
The response provides a general explanation for the difference or
2 similarity in the results for the Powder X investigation with the results for
the students who left their bag open and used what was learned in the
burning candle investigation to support the answer.
The response provides a limited explanation for the difference or similarity
1 in the results for the Powder X investigation with the results for the
students who left their bag open and may or may not use what was
learned in the burning candle investigation to support the answer.
0 The response does not contain any correct elements or is irrelevant.
Blank No response

Training Notes:

Note: This response may be very similar to the response for question #4.

My results were different from the results for the students who left their bag open. My
results showed no change in mass because | did my experiment in a closed system.
The CO, produced in my bag was trapped because my bag was sealed. The students
with the open bag had an open system like the burning candle and their results
showed a decrease/increase in mass. The CO, in the open bag probably escaped which
explains why the other students showed a decrease in mass. OR Air from outside the
bag reacted with the powder so the open bag showed an increase in mass.
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Score PoINT 2

@ Use what you learned from the burning candle experiment to explain why your results from
the Powder X investigation were similar to or different from the results of the two students
who left their bags open. Use evidence to support your explanation.

The students who kfh Yoer bags spen weee \ike the \wrr-i_ﬂ)
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The response includes a general explanation of the difference in the results of the Powder X
investigation compared to the results for the students who left their bag open and the results
of the burning candle investigation.
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Score POINT 2 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry

Booklet.
After Mixing with Water
Qowde{ X g\ued -J\\ﬁn Yre wo\h( \’\\\ i\'. The nt )(»urmd H)\\i\“()
Trial1 | Yt as Yhe Powdet X dissoved 1 burned clear. The mif was
(n‘d cmd bubblj Mﬂll\ x‘\ L“‘fﬂ(d C’éﬂ{'.
Trial 2
Trial 3 =
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Score PoInT 1

@ Use what you learned from the burning candle experiment to explain why your results from
the Powder X investigation were similar to or different from the results of the two students
who left their bags open. Use evidence to support your explanation.

m@&\o& ) s d1ferent. becouce ,cxf the
m C«\?{l&buouse the kg :iq.s qpﬂg).(/n hleo
WS st keeeping . 905 10,

The response provides a limited explanation of the difference between the results of the Powder
X investigation and the results for the students who left their bag open. There was no reference
to the burning candle investigation.
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Score PoINT 1 (CONTINUED)

Data Table 1: Mass Differences and Observations

Investiaation Average Difference in Mass
9 (Number of Washers)
Powder X and water O

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

22
* bubBles
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Trial 1
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68



NECAP 2010 RELEASED INQUIRY TASK
GRADE 8 SCIENCE

Score PoinT 0

@ Use what you learned from the burning candle experiment to explain why your results from
the Powder X investigation were similar to or different from the results of the two students
who left their bags open. Use evidence to support your explanation.

The buran Landle  €XPequment ard the Dawder X invESH aten
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The response does not explain why the results of the Powder X investigation were similar to or
different than the results for the students who left their bag open. The response also discusses an
increase in mass in the candle experiment, which is incorrect.
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Score PoINT 0 (CONTINUED)

Data Table 1: Mass Differences and Observations

Average Difference in Mass

Investigation (Number of Washers)

Powder X and water 0

In the box below, copy your observations from “After Mixing with Water” from page 9 in your Inquiry
Booklet.

After Mixing with Water

AS  Geen  aS e Xed  4he wWARC  Luth Qowdetr X
Trial 1 + Storted Yo S a2zle. The SubStence waS bLobbling.
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